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v-~n~~‘l~Guw” Output  oonuih%wwc%i

SUM X **  2 (EVEN NO.) = XXXXX

SUM X **  2 (ODD NO.) = XXXXX

1:

-1
ISUM =  ISUM +  IX’

J 1 :
JSUM = JSUM + (IX + 5)’

(‘”

ISUM, JSUM

C S  2 1 5  (H)

ISUM =  0

JSUM = 0

IX = 10

ISUM = ISUM + IX ** 2

JSUM = JSUM + (IX + 5) ** 2

IX = IX + 10

IF (IX .LE. 100) GO TO 13

WRITE (6, 12) ISUM, JSUM

FORMAT (IOX, ‘SUMA  X **  2 ‘3A

(EVENA  NO.)A = A’,

16/10X,  ‘SUM/\  X ** 2/\  ‘,

(ODD/\ NO.Jh  =A’  ,

16)

STOP

END
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lSUM =  0

1

JSUM = 0

1

N=l

4

ISUM =  ISUM +  N2

4

JSUM  = JSUM + (N + 1)’

1

N=N+2

IE

IO

WJO

20

10

ISUM =  0

JSUM = 0

N=l

ISUM  = ISUM + N **  2

JSUM = JSUM + (N + 1) **  2

N=N+2

IF (N .LE. 99) GO TO 18

WRITE (6, 10) ISUM, JSUM

FORMAT (2110)

STOP

END

ISUM =  0

ISUM =  0

DO20N  = 1,99,2

ISUM =  ISUM +  N  **  2

JSUM = JSUM + (N + 1) **  2

WRITE (6, IO)  ISUM, JSUM

FORMAT (2110)

STOP

END
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JSUM  = 0

i

N=N+?

JSUM = JSUM + (N + 1)’

1 8

9
10

N =  - 1

ISUM  =  0
JSUM = 0
N=N+2
IF (N .GT. 99) GO TO 9
ISUM  = ISUM  + N **  2

JSUM = JSUM + (N + 1) ** 2

GO TO 18
WRITE (6, 10) ISUM,  JSUM

FORMAT (2110)
STOP

END
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c )  PRSIk’E

d) B.4

e)  A6,OO

f) XL1

g)  M E A N

1) ((X + Y)/C)  **  .37

OJI
-L-l2

0

3) (C + (A * X ** 2 - B) *  X)

2) (.4 + X)* B/Y

4) A *  B/C * D/E * F
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5 )  (X - 1.7)/((X  - 1 . )  * (X - 2 . ) ) 6) ((A + B)/C) ** .34
uuu

7) A ** B/C + D * E * F - G 8) A * (B + (C/D - E))

Mathematical expressions FORTRAN expressions

1 )  ( A  + 6)’ A  +  B**3 (A + B) ** 3

2)
A + B
-
c+3

A + B/C + 3 (A + B)/(C + 3)

3 )  A!-
Q + 5.

RS/(Q  + 5.) R * S/(Q + 5.)

4) aXZ  + bX + c C + ( A * X + B ) C  +  ( A * X  +  B)*X

M - 4.5 * N ** ~ .5 (M - 4.5 * N) ** .5
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Mathematical expressions FORTRAN expressions Correct FORTRAN expression

1) xJ/2 X **  (3/2) X ** (3./2.)

2) x2 + YZ X+Y x **  2 i Y **  2

X - Y
3 )  - x - Y/C

C
(X - Y)/C

4)  Z2.4A Z +* 2.4 *  A Z **  (2.4 * A)

5) x+ X **  2./3. X **  (2./3.)

6 )  d- 3./A *  B 3./(A  * B)
AB

4/33 W~~:&bkJfl  FORTRAN expression dDl&

1. k.dElkl~U@l~fklllElJ  Variables &I$

J=Z,K=2,KK=7,L= - 3

a) J * (K -- KK)/(9  + L) PlmJ  - 1

b) (J *  (K - KK)/9)  + L BlblJ - 4

c) (J *  (K - KK)/9  + L) Blepl  - 4

d) (J * (K - KK))/(9  + L) BlmJ - 1

Y
2. ~d0~7%W~~Af?PllOJ  Variables G?&

A = 2. , B = 3. , C = 2. blR: D = 3.

a) A * B/C ** D mepl .I5

b) (A *  B/C) ** D BltMJ  2 7 . 0

c) A * (B/C) +* D mpl  6 . 1 5
Y

b) (A + B  + ((C * D) ** 2))/((((A  + 2.8) ** (I - 1) + (B/(C  + D))) * (A + 6.)

BlmJ (A + B  + (C *  D) **  Z)/((A  + 2.8) **(I - 1) + B/(C  + D)) *(A + 6.)
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l/42  Plfl mathematical formula ui~d7~~ilJIQuMZ~~C~~~~~~~  arithmetic StatementS

1) Z = R2 + (XL - XC)~ Z=R**2+(XL-XC)**2

2)  Q  =  XL/R Q  =  X L / R

3) db = 20 log 2 DB = 20. *  ALOG  10 @O/El)

4) F,, =
1 FNOD = lJ(2.0  *  PI * SQRT (R(1) *  C(1) * R(2) *  C(2)))

2n R,C,R2C2

5)Q=  5
XL

Q = RS/XL

6) R,, = ,,; mg
RNOD = SQRT (1.0 - (l./(Z.  * Q)) ** 2)

c

I

/(2.0  * PI * SQRT  (CL))

7 )  zo =  L / C ZNOD = AL/C

8) Y = arc - tan (X/R) Y = ATAN (X/R)

9) e, = E, [ 1 - ~~“~~1 EC = EA *  (1. - E ** (-T/(R * C))

10) e = Emax  Sin wt E = EMAX *  SIN (W * T)

2/42  Ps¶Jaf&kl~‘U  arithmqtic  statements 6iO!&

1) 0 = ET/RT

2)-= 1

3)@ = I/2

4) BEN = Al * - B0
5) B =(RE9 ** 2
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1 READ (5,2) DSTXU, DSTUV, DSTVZ, SPDXU, SPDUV, SPDVZ

FORMAT (3F7.2, 3F5.2)

T I M E  =  DSTXU/SPDXU  +  DSTUVBPDUV  +  DSTVZ/SPDVZ

WRITE (6, 3) TIME

FORMAT (10X,  F5.2)

STOP

END
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IO
Z  Xi

b)j;= E’~ LdQ  n = 10
n

I
SUMX =  0

4

I=0

4

yes

XBAR = SUMXi10.0
X(I) = I

t c

SUMX = SUMX + X(I)

12

10

99

SUMX = 0
I=0
I=I+l

GO TO (10, 10, 10, 10, 10, 10, 10, 10, 10, 10, 99), I
X(I) = 1
SUMX = SUMX + X(I)
GO TO 12
X B A R  =  SUMX/IO.O
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2 3 8

integer variable I U Computed GO TO statement)

a )  fllK=I y= X+5
x - 6 ’

x = 10

b )  ii7K=2 y= X - 5
x+6’

x = 15

c )  hK=3 y= x*2- ,x=10
x / 2

LLAt  d )  61 K =  4  Lib\”  tiho’uilWJbhttfi~%J

Y yes
< K  =  4?>-

n o

f-k
y-x+5

X - 6

n o x = 15

1

y -  X - 5
X + 6

13

10

1

2

3

19

12

4

READ (5, 10)K

FORMAT (II)
GO TO (1, 2, 3, 4), K

x = 10

Y = (X + 5.)/(X - 6.)

GO TO 19

x = 15

Y = (X - 5.)/(X + 6.)

GO TO 19

x = 10

Y  =  x  *  2./(X/2.)

WRITE (6, 12) X, Y

FORMAT (2F10.3)

Go TO 13

STOP

END
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3/50  Wt%lu  flowchart ttatT~sttn~ul~u~sa~no~n7uoJ  integer variable IU Computed

GO TO statement iltK$Wiltril~~  3 vli0  7 H% 9 l[g;Rluaruviifil  Y i7lnBun1’2

h?Jif

HEAD  (5, 10) I,  x

FORMAT (-)

GO TO (2, 2, 12,  2, 2,

Y = 13.49 + .052*x

2, 12, 2, 12),  I

Y = 13.49 + .052x

I

I
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0START

ISUM =  ISUM  +  I

1 3

1 2

1 0

H%

9

1 0

ISUM  = 0
I=0

1=1+1

IF (I .GT. 10)  GO TO I2
ISUM  =  ISUM  +  I

GO TO 13
WRITE (6, 10) ISUM
FORMAT (13)

STOP
END

ISUM  =  0

D O 9 1  =  1,lO
ISUM  =  ISUM  +  I

WRITE (6, 10) ISUM

FORMAT (13)
STOP
END

lfil

.O

s = o

x=1
s = s + x
x = x + 1 .
IF (X - 10.) 5, 5, 7
WRITE (6, 10) S
FORMAT (F10.2)

STOP
END

5

7
1 0

s = o

x=1
s=s+x
x = x + 1 .
IF (X - 10.) 5, 5, 7
WRITE (6, 10) S
FORMAT (F10.2)

STOP
END
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G O

G O

G O

TO 50

TO 10

TO 20
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9

1 0

1 1

1 2

1 3

4

x =  - 1 1

x = x + 1.0

IF (X .GT.  10)  STOP

IF (X) 10, 11, 12

Y = (7.0 * X ** 2 - 4.0)/(12.0  * X)

GOT0 13

Y=X

GO TO 13

Y = x ** 3/(X - 5.0)

WRlTE (6, 4) X, Y

FORMAT (2F10.3)

G O T 0 9

END

CS  2 1 5  (l-0
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1 5*
0START

I
+

Nl  = 0
N2 = 0
N3 = 0
N4 = 0
NS = 0

I
I

4
Nl, N2, N3,

N4. N5 /

r--

A no
IS9?  ‘2--,

yes

CS 215 (H)2 4 4



9 9

2

10

11

12

13

18

9

DATA Nl,  N2, N3, N4, N5/5  *  01

READ (5, 2) 1

FORMAT (15)

IF (I .EQ.  -9999) GO TO 18

IF (I .GT.  9) GO TO 10

Nl  = Nl  + 1

GO TO 99

IF (I .GT.  99) GO TO 11

N2  = N2 + 1

GO TO 99

IF (I .GT.  999) GO TO 12

N3 = N3 + 1

GO TO 99

IF (I .GT.  9999) GO TO 13

N4 = N4 + 1

GO TO 99

N5 = N5 + 1

GO TO 99

WRITE (6, 9) Nl, N2, N3, N4, N5

FORMAT (518j

STOP

END

CS 215 (II) 245





22

19

32

33

3<

25

II

<EAD (5, IO)  A, B, C

TORMAT (3F5.2)

‘F(A) II, 12, 13

Y =  - C / B

WRITE (6, 18) A, B, C, X

FORMAT (3F10.2, F12.4)

30 TO 99

DEL = B **  2 - 4. * A *  C

IF (DEL) 22, 32, 33

WRITE (6, 19)

FORMAT (IOX, ‘NOA  REALA ROOTS’)

GO TO 99

Xl = -B/(2. * A)

x2 = Xl

ti0  TO 39

X l  =  ( - B  i- SQRT  (DEL))/(Z.  *  A )

X2 = (- B - SQRT (DEL))/(2.  * A)

WRITE (6, 29) A, B, C, Xl, X2

FORMAT (3F10.2, 2F12.4)

GO TO 99

STOP

END



1 2

J 10

X

4

SUM = SUM + X
3

AVG = SUM/IO

SUM=0

D O 1 0 1  =  I,8

READ (5, 12) X

FORMAT (F5.2)

SUM = SUM + X

CONTINUE

AVG = SUM/B.

WRITE (6, 3) AVG

FORMAT (10X, F7.2)

STOP

END
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1000 & \dl?“lu  array B u4i~JJilRl~U~ZPltt~~J~QJ  element ~PI  array B Q$U

$Tll+m:  reverse order fkJ  array A
L a

Ul-mQ content llQJ  B(1000)  ll~?JdlLht?J  content 2105  A(1)

content ‘IIQJ B(999) P~%h~YhTkl  content 2105  A(2)

content ?IFH  B(1) ilZ%lr~ln’El content 1109  A(1000)

DIMENSION A(lOOO),  B(lOOO)II:
DO 12 I = 1, 1000

I I J = 1001 - I

1 2 B(I) = A(J)

ln”¶J!%  variable ?kQk  SMALLX

6

1
SMALL = X(1)

I1

8

SMALLX = X(I)

Cs 215  (10

DIMENSION X(100)

READ (5,6)(X (I), I = 1,100)

FORMAT (IOF5.2)

SMALLX = X(I)

DO 11 1 = 2,100

IF (X (I) .GE. SMALLX) GO TO 11

SMALLX = X(1)

CONTINUE

WRITE (6, 8) SMALLX

FORMAT (10X,  F5.2)

STOP

END

2 4 9
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I I

2

VI%

21

2

s = lx2  - 2x3  + 3x4  - 4x5 + .,. + 29x30 - 30x31

START

1
1SUM  = 0

1
N= - 1

-I
N=N+2

1SUM  = 1SUM  + N(N  + 1)
- (N + l)(N + 2)

1SUM  = 0

N =  - 1

N=N+2

IF  (N .GT.  29) GO TO 18

ISUM  = ISUM  + N * (N + 1) - (N + 1) * (N + 2)

GO TO 12

WRITE (6, 21) ISUM

FORMAT (110)

STOP

END

ISUM  = 0

DO20N  = 1,29,2

ISUM  = ISUM  + N * (N + 1) - (N + 1) * (N  + 2)

WRITE (6, 21) ISUM

FORMAT (110)

STOP

E N D
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1 3  C O N T I N U E

WRITE (6, 8)

8 FORMAT (10X,  ‘AA  ISA A/\  MAGIC/\  SQUARE’)

99 STOP

END

NZERO = 0

DO101 = I,4

D O  IOJ  =  1.6

IF (A (I, J) .NE.  0) GO TO IO

NZERO = N%EKO +  I

WRITE (6, 8) I. J

FORMAT (213)

CONTINUE

4
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l/102 WRITE (6,40) A, B, C, 1,  J

40 FORMAT (2 F10.2/F20.7/217)

BlB¶l Lla%lGi 1 ~--L--I--"- --,- 4

Lla3iwi 2 ,--2-----, --- - - - 4

msi%lfi 3 +-!-- -.iJ-1 --a

2/102 WRITE (6,50) D, T, Xl, J, Z, P

50 FORMAT (F8.2, (2F10.2, 13, F10.4))

hnlaaanaol READ(5, 11)l.J

I1 FORMAT (2(13/))

WRITE (6, 12)  I, J

12 FORMAT (1X,  13/1X,  13)

READ (1, 13)K

13 FORMAT (13)

WRITE (6, 12)K
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WRITE (6,69)  A, B, I, K, F

a) 69 FORMAT (FlO.3/FS.3/214/F8.2)

b) 69 FORMAT (2F10.3//214,  F8.2)

c) 69 FORMAT (F10.2, F10.2, 214, F8.i)

d) 69 FORMAT (2F10.2, 214, F8.2)

Y

2/106  iIt?. F O R M A T  &l~~~i%$h&~~ $I”1~Psflon~lbaPs~~~~~~~~~~~

a) WRITE (6, 10) ITEM, A, B, C

10 FORMAT (4FlO.S)

(4F10.5) %I  (aFIO 5 , 3F10.5)  ITEM 1% F10.5 k.i%
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9 0 I READ (5.90) XRAY, ZEBRA

FORMAT (2E4.0)

lE20  27E4 IOm
mopI XRAY = 1. x 102”

ZEBRA = 2 7 .  x  IO”

column IO %Jw”  A

column 20 w”Uw’  LOT

column 30 %Jw’  OF

column 40 &JG  SPACES

column 50 %JG  TO

column 60 fiU6 COUNT

1 0

t

2 6 4

WRITE (6, 10)

FORMAT (Tll, ‘A’, T21,  ‘LOT’, T31,  ‘OF’, T41,  ‘SPACES’, T51,  ‘To’,

T61.  ‘COUNT’)

CS 215 (HI





2

A

10

1 1

12

3

I DIMENSION IS  (7,4), IR (7), IC (4)

WRITE  (6, 2)

FORMAT (IX, ‘COCA-COCA’, 2X, ‘SEVEN-UP’, 2X, ‘GREEN-SPOT’, 2X,

‘PEPSI-COLA’)

Ib = 0

D O 1 0 1  = 1,7

1R (1) = 0

DOlOJ  = 1,4

IR (1) = 1R (I) + IS  (I, J)

DO12J  = 1,4

1C (J) = 0

DO 11 1 = 1,7

1C (J) = IC (J) + IS (I, J)

IG = IG + IC (J)

WRITE (6, 3) ((IS(I,J),  J = I, 4). IR (I), I = 1, 7)

FORMAT (5X, 12, 9X, 12, 8X, 12, 11X, 12, 5X, 13)

WRITE (6, 3) (IC(K), K = 1, 4), IG

STOP

END
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1001

IO

DIMENSION A(4,4),  B(4,4),  C(4,4), D(I6),  lD(4)

INTEGER A, B, C, D

EQUIVALENCE (C, D)

READ (5, 1001) ((A&  J), I = 1, 4), J = I, 4)

READ (5, 1001) ((B(1, J), J = I, 4), I = 1, 4)

FORMAT (1612)

DO 101 = 1,4

DOIOJ  = 1,4

C(1, J)  = 0

DO 10 K = I,4

C(1, J)= C(I,  J) + A(1,  K) * B(K, J)

M=l

DO 30 J = 1, 13, 4

K=J+3

ID(M)  = D(J)

D O 2 0 1  =  J , K

IF (ID(,W)  .LE. D(l))  GO TO 20

ID(M) = D(I)

CONTINUE

M=M+I

CONTINUE
as

h.$ 2 lEl&il

i
10070301050401- 502 - 10208070304-2
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1
- 1-2000102001030407020105090801

%WileilWl~ A(1, 3), A(2, 4), A(3, I), A(4, 3), A(2, 1)

B(2, 4). W,  4), B(3, 4), B(2, 3), B(4, 1)

ccl,  I), C(2,  2), C(3,  3), C(4, 3). C(4, 4)

D(3),  D(8)

lD(l),  ID(2),  W3),  ID(4)

Blml

A =

10

7

3

1 -

5 2 7

4 -1 3

0 2 4

5’ 8 -2

B =1 I- 1 -2 0 1

2 5 1 3

4 721

5 981

Matrix C = AB

A(1, 3) = 2 B(2,4)  =  3

A(2, 4) = 3 B(1, 4) = 1

A(3, 1) = 3 B(3, 4 )  =  1

A(4, 3) = 8 B(2, 3) = 1

A(2, 1) = 7 B(4, 1) = 5

C(l,l).= -10+10+8+35=43

C(2, 2) = - 14 + 20 - 7 + 27 = 26

C(3, 3) = 0 + 0 + 4 + 32 = 36

C(4,3)=0-5+16-16=  - 5

.

C(4, 4) = 1 - 15 + 8 - 2 = -8
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C(3,I)=D(3)=  -3+0+8+20=25

C(4,  2) = D(8) = -2 - 25 + 56 - 18 = I1

dllIos  ID(I), . . . . ID(4) ~~~n~n~l~~~~lb~~

l/132  DIMENSION K(5), A(6)

DATA A/2., 3.. - I., -3..  4.. 5./, K/5, 3,6,4,  I/

Wfli1~-&&4 ?aJon+.pil’llos  variables eiO!d<

a) A(K(5))  = A(I) = 2.0 e) UAW(l)))  f’im

b)  A(K(K(2)))  = A ( 6 )  = 5 . 0 I ’ )  K(K(A(5)))  ;@

c) A(W)) ia g)  SQRT‘(A(K(I)))  = SQRT (A(5)) = 2.0

d)  K(A(I)) &I h) A(K(4)) ** 2 = A(4) ** 2 = (-  3.)’  = 9.0

3/132  filMpIFl%~  A L&J array 2 %?  %Ul@l  m rows  blRt  n columns PSL&UU  flowchart bbAZ

bd3LLfl3kJdll.4  m ,  II LLR:  a r r a y  A  Ua”a8ilU’JtUHl~lbO&

3.1 ?JElJLNi~~  row

3.2 WL9Mk column

1 9 2

A = 20

Average

I2 60

39.75 52.15

\

8 8

4 0

2 3

6 0

8 8

4 0

2 3

Average

9 0

3 0

2 9

3 6
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9

10

I  I

12

99

DIMENSION IW(6, 8)

DA-IA ISUMW, ISUM/  * 01

RLAD (5 ,  9 )  ((IW(I,  .I),  .I  =  I, XL  1 =I.  6)

FORMA r (X13)

DO IO  I = I, 6

DO IO  .I  = I, x

I S U M W  = ISUMM’  i lW(l.  .I)

DO I I I = 2, 5

DO I I .I  = 2, 7

ISUM =  ISUM +  IW(I. . I )

M A X  = IW(I,  I)

DOI2I  = I,6

DO I2 _I  = I, 8

II’(MAY  .C!Z.  lW(l.  .I)) GO T O  I2

MAX = IW(I. J)

IM  = I

JM = J

CONTINUE

WRITE  (6, 99) ISUMW, ISUM, IM, JM, MAX

FORMAT (IOX, ‘TOTAL, WEIGHT,, = ,,;,  IS.  ‘K.G.‘/

A IOX,  ‘TOTAL, WEIGHT, OF,, MIDDLE, CELLS;, = ,,,,‘, 15,

B ‘K.G.‘/IOX,  ‘THE,, HEAVIEST, CELL,, IS,,  IN, ROW;, II, ‘COLUMN’,

C II, ‘ITS, WEIGHT,, =A’, 13, ‘K.G.‘)

STOP

END
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Name Formula Arguments

1) C U B R T cube root = X’.33J’ X

2 )  SINZX sin (2x) = 2 sin x cos x X

3) ROOT1 root =
- b  f n

A, B, C
2a

ROOT2

4 )  ALOGIO log,,, (x) = 0.4342945 log, (x) X

5)  FLOOR if x > 6.0

if x < 6.0 X

(rlD¶l  1 )  CUBRT(X) =  x  * *  (.333)

2) SIN2X (X) = 2.0 * SlN  (X) *  COS (X)

3) ROOT1 (A, B, C) = (-B + SQRT (B ** 2 - 4. * A *  C))/(2.  * A)

ROOT2 (A, B, C) = (-B - SQRT (B ** 2 - 4. * A * C))/(2.  * A)

4) ALOGIO  (X) = 0.4342945 *  ALOG  (X)

5) FLOOR1 (X) =  x * x

FLOOR2 (X) = 36.0 * X

l/145  PJL~UPI  flowchart LLRZ  function subprogram

iillWllw” f(J)  = x2 ifx > 0

= a i f x = O  .

= X3 i f x  <  0

(lx FLOOR &4&l  funct ion)
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Calling program

<EAD (5, 1) A

-0RMAT (F5.2)

3 = FLOOR (A) I

2

3

FUNCTION subprogram

FUNCTION FLOOR (X)

IF (X) 1, 2, 3

FLOOR = X ** 3

RETURN

FLOOR = 0

RETURN

FLOOR = X ** 2

RETURN

END
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l/l 51 SSbf~I.4  subroutine subprogram %.Jw’  elements ~fl&Yo4  square matrix A ~Xl!&dlJ

ll0sbtotncbrusya.l

&dlS A(1, I)A(I, 2 )  A(I, N)

A ( 2 ,  l)A(2,2) A ( 2 ,  N )

A(N, I) A(N, 2) . . . A(N, N)

%JJw’  A ( 2 ,  I )

A(3, 1)  A(3, 2)

A(49  1)  A(4, 2) A(49  3)

MN, I) A(N, 2) A(N, 3) . . . A(N, N - 1)

1 2

IO

SUBROUTINE LDIAG  (A, N)

DIMENSION A(N, N)

DO101 =  2 , N

K=l-I

WRITE (6, 12) (A(1,  J), J = 1, K)

FORMAT (20F6.3) (61  N < 20)

CONTINUE

RETURN

END
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c

15

40

1 8

PROGRAM ONE

FORMAT (3F6.2, 14)

DO 18 I<=  1, 10, 4

READ (5, 40) A, B, C

FORMAT (3F5.2)

CALL TWO (A, B, C, I)
I=K
WRITE (6, 15) A, 8,  C, I

CONTINUE

STOP

E N D

SUBROUTINE TWO (B, C, X, J)

B=C+X

C = B/X

J = B + C

X = J/X

RETURN

E N D

A B C
J J 1
B C X

(I) 1.26 4.56 7.00

(2) 1 . 1 1 2.22 3.00

(3) 10.10 30.30 5.00

A - B = C + X

B + C = B/X

I+J=BtC

C + X = J/X

(1)

II.56

1.651

13

1.857143 ! Gv (3)

5.22 35.3

1.74 7.06

6 42

2.0 8.4
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C

1

PROGRAM FINAL

COMMON A(6), I(4)
. . . .

CALL SUBF(A,6,1,4)
.,..

END

SUBROUTINE SUBF(P,  X,Q,  Y)

COMMON B(3, 2), .I, I<, L, M

INTEGER X, Y,Q

DIMENSION P(X), Q(Y)

Doll=  1.3

DOIII  = I, 2

B(I, II) = I.0

J=I

K - 2

I. = 3

M = 4

P(4) = 22.2

Q(Y)  = 8

RElURN

END
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BlBlJ A(2) = I.0 COMMON AREA

A(4) = 22.0 Ma in Sub.

l(3) =  3 BII P I

&I P2
I(4)  =  8

B31 P3

812 P.4

BZ2 P5

B32 P.5

J Qi
K 42
L Q3

M Q4

14

24

5

34

COMMON A(5, 5)

ID = I

N=5

CAI.1. SUBI (ID, N)

WRITE (6, 5) ((A(I,  J), J = I, N), 1 = I, N)

ID  =  2

CAI.1. SUB1  (ID, N)

WRITE (6, 5) A

FORMAT  (5F10.2)

STOP

E N D

SUBROUTINE SUBI (ID, N)

COMMON A(5, 5)

GO 70 (34, 44).  ID

1. = I

DO IO.1  = I ,  N

DO IO1  = 1, N
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l(

4 4

3f

3

A(1,  J)  =  L

L=L+I

RETURN

INDEX = 0

D O 3 0 1  =  I,N

DO30J = I,N

IR = N f 1 - 1

IC=N+I-J

TEMP = A(I,  J)

A(I,  J)  = A(IR,  IC)

A(IR,  IC) = TEMP

INDEX = INDEX -t 1

IF (INDEX .GE.  N ** 2/2) CO

CONTINUE

RETURN

END

TO 31

~W~~~WJ~~JLLWI 24 S:P;jXJ6 23 22 21

20 19 18 17 16

1 4 1 3 1 2 1 1

1 0 9 8 7 6

5 4 2 3 1

2 8 2
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1) r$fJn  subroutine MADD k.JV?  matrix 0

2) b$fJfl subroutine TRAN ;Uw  matrix t

3) l%Jfl  subroutine MULT  ‘%JJw”  matrh F

b) subroutine MADD $S¶Jan  matrix A %I  B \ha%“wa’~h  matrix D
d

c) subroutine TRAN ‘I19Hl transpose  llO9 matrix A l&h matrix E

d) subroutine MULT 43s””  matrix A n’El  mafrix  C Ua”a!%-Jk?&4jf~h  matrix F

eYad1~  A(2 x 3) = [ 1 2 3 14 5 6
1  2 3

C(3 x 3) = i 4 5 6 17 8 9 IO IO 10
D(2 x 3) = A + B  = c 1IO  IO  IO

E(3 x 2)

F(2 x 3) = AC =

A

10

B

CS 215 (~1

DIMENSION A(2. 3), B(2. 3). C(3.  3). D(2, 3). E(3.  2). F(2, 3)

READ (5,  10) ((.~(I. J). J = I, 3). I = I, 2). ((B(i.  J), J = I. 3). I = I. 2).

((CCL  J), J = I, 3). I = I, 3)

FORMAT (3F5.2)

WRITE (6, 12) ((A(1,  J), J = I. 3). I = I. 2). ((B(I. .I). J = I. 3).  I = 1.  2).

:(C(I,  J), J = 1. 3). I = I, 2)
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1 2

C

1 3

1 4

IO

IO

FORMAT (3 (5X, F5.2))

CALL MADD (A, B, D, 2, 3)

CALL TRAN (A, 2, 3, E)

CALL MULT (A, C, 2, 3, 3, F)

WRITE (6, 13) ((D(I, J), J = 1, 3),  1  = 1,  2),

((F(I,  J),  J = I, 3), I = 1, 2)

FORMAT (3(5X, F5.2))

WRITE (6, 14) ((E(I,  J), J = 1. 2), I = 1, 3)

FORMAT (2(5X, F5.2))

STOP

END

SUBROUTINE MADD (A, B, D, M, N)

DIMENSION A(M, N), B(M,  N), D(M, N)

D O 1 0 1  =  1,M

DO IOJ  = 1, N

D(I,  J) =  A(l,  J )  +  B(1, J )

RETURN

ENV

SUBROUTINE TRAN (A, M, N, E)

DIMENSION A(M,  N), E(N, M)

DO101  = I,M

VOlOJ  = I,N

E(J, I) = A(I,  J)

RETURN

END

SUBROUTINE MULT (A, C, M, N, K, F)

VIMENSION  A(M.  K),  C(K,  N), F(M, N)

DO101 = 1.M

VOlOJ  =  l , N

F(I,  J) =  0

VOlOL  = I,K
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IO

2 2

1 2

SUBROUTINE PRNT (A, N)

DIMENSION A(N), B(N)

IF (A(1) .LT. A(N)) GO TO 12

DO101  = I,N

J=N+l-I

B(J) = A(1)

WRITE (6, 22) (B(l), I = 1,  N)

FORMAT (IOF10.2)

RETURN

WRITE (6, 22) (A(l), I = 1, N)

RETURN

END
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